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Module 5: Financial Decision-
Making 

In this module, you will: 
1. Learn how to evaluate the overall financial health of your farm or ranch at any point in time.

2. Understand when and how to use partial budgeting, break-even, and ROI to enhance your decision-making.

Ratios 
How am I doing? This is one of the biggest questions we try to answer in financial planning.  You can look at a 
balance sheet and see that you have more assets than liabilities.  You can look at an income and expense statement 
and see that over the course of the year you made a profit. But how can you measure your financial performance 
overall?

There are five basic measures of financial health:

1. Liquidity. Can you meet cash demands as they occur?

2. Solvency. Could you pay your debts if you sold your farm today?

3. Repayment capacity. Can you repay your debts on time?

4. Financial efficiency. Are you getting the most out of your assets?

5. Profitability. Is it worth the cost?

In this section, we will briefly discuss the first four financial health measures and how to use simple ratios to 
measure the two most important ones. We will cover profitability a bit later in the module. Don’t be intimidated—
the ratios will utilize numbers pulled from your balance sheet, income and expense statement, and cash flow 
statement—so you’ve already done most of the work!

Liquidity 
Liquidity is the ability to generate cash to meet cash demands as they occur throughout the year. It is a measure 
of the short-term wellbeing of your farm or ranch. The most common way to measure liquidity is the current 
ratio. The current ratio is equal to your current assets divided by your current liabilities. Both of these numbers 
(current assets and current liabilities) are located on your balance sheet.

As a very simple example, let’s say that your checking account has $10,000 in it and you have $5,000 in cattle that 
you will sell in the fall. In the spring, you took out a $5,000 operational loan from the Farm Service Agency that’s 
due in full the fall and you currently have an invoice on your desk for hay you purchased last month for $2,000. 
Remember from Module 4, your checking account and the cattle are your current assets and the operational loan 
and hay invoice are your current debt.

current assets

current debts

$10,000 + $5,000

$5,000 + $2,000

$15,000

$7,000
2.14 

A current ratio of 2:1, which means that for every dollar of debt you have two dollars of assets, is usually 
considered adequate. If your current ratio approaches 1:1, your ability to sustain your business during a financial 
downturn may be limited. In the example above, the current ratio is greater than 2:1 which means your business 
is “liquid” and could withstand shocks effectively in the short term.

Page !65



Solvency 
Solvency refers to your ability to meet long-term financial commitments as they come due. Another way of 
thinking about it is as your ability to pay off all of your debts if you sold your farm or ranch today. The most 
common way to measure solvency is the debt-to-asset ratio. The debt-to-asset ratio measures the proportion of 
total farm assets owed to creditors. Again, both of these numbers (debt and assets) are located on your balance 
sheet. By “total” we mean both your current and long-term liabilities and assets.

For another simple example, let’s say you owe $5,000 on your tractor and $160,000 on your home.  In addition, 
you have $10,000 in a savings account and $5,000 in cattle that you will sell in the fall.  Your tractor is valued at 
$15,000 and your home is valued at $250,000.  The amount you owe on your tractor and home are your debts and 
all the other items are assets. Your debt-to-asset ratio would look like this:

debts

assets 

$5,000 + $160,000

$10,000 + $5,000 + $15,000 + $250,000

$165,000

$280,000
0.59 or 59% 

When calculated based on the market value of your assets, a debt-to-asset ratio under 40% is usually 
considered comfortable; over 60% is usually considered vulnerable. With your debt-to-asset ratio being so close 
to 60%, your bank might want to see additional income sources, like new markets, products, or an off-farm job 
before lending you additional money. Again, ratios won’t be the only thing your lender will look at, but they are 
intended to give a snapshot of your farm’s overall financial health.

Repayment Capacity and Financial Efficiency 
Repayment capacity refers to your ability to repay debts on time. One of the most common indicators of 
repayment capacity is the term-debt coverage ratio. This ratio tells whether your business is generating enough 
income to cover all intermediate and long-term debt payments. The numbers that you need to calculate your 
term-debt coverage ratio can be found on your income and expense statement.

Financial efficiency refers to how effectively your business uses assets to generate income. One way to measure 
financial efficiency is by looking at the operating expense ratio. The operating expense ratio shows the 
proportion of your farm’s income that is used for operating expenses. The numbers you need to calculate your 
operating expense ratio can be found on your income and expense statement.

These ratios are somewhat less common and more advanced calculations so we will not go into greater depth. 
However, you can find the equations in Worksheet 5A if you need them in the future.

Break-Even Tools 
A break-even analysis is probably one of the most useful calculations that you will perform when considering 
alternative business strategies. It tells you, very simply, the point at which you’ll start making more money than 
you spend.  You can calculate a break-even volume to determine what level of production is necessary to start 
making profits when your products are at a certain price point.

On the flip side, if your output or production volume is fixed, try calculating a break-even price to determine 
what product price is necessary to start making a profit based on a set level of production. If neither your price 
nor output is fixed, these calculations can be used to develop production and price floors for each enterprise—
something that will be useful for future monitoring and decision-making.

Remember that in either case, your break-even analysis doesn’t tell you how much profit you will make—it only 
calculates the point at which you can start making profits—the point when you will be just breaking even.  To 
gain a profit, you’ll either have to produce more than your break-even volume or charge more than your break-
even price. Use Worksheet 5B: Break-Even Analysis to work through these processes for your farm.
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Calculating a break-even volume 
When you know your prices and you’re trying to figure out how much you 
need to produce, try calculating your break-even volume. The break-even 
volume is calculated by dividing your total overhead costs by the sales price 
minus your variable costs. Remember from the financial concepts glossary in 
Module 4 that overhead expenses are the costs that don’t vary based on your 
production levels, i.e. insurance, rent, taxes, living expenses, etc. These are 
sometimes also called “fixed” expenses. Substitute the DIRTI costs 
(depreciation, interest, repairs, taxes, and insurance) for the actual purchase 
price of machinery and other capital purchases when estimating your overhead costs. Because your overhead 
costs need to be covered regardless of the amount of product you produce, they are a key number in this 
calculation. On the bottom half of the equation, variable expenses are subtracted from the price of the product so 
that all costs are captured in the equation. Remember that variable costs are the ones that do vary with 
production, such as feed, packaging, or labor. Both of the numbers on the bottom of the equation are expressed 
per unit because you’re ultimately looking for the total number of units you need to produce to break even.

As an example, let’s say you’re producing whole lambs to sell through a buying club. You’ve put together your 
budget and you know that your costs of running the farm (overhead expenses) are $40,000 per year. That price 
includes your farm maintenance expenses, and costs of the mortgage, machinery, labor, pasture maintenance, 
marketing, and other overhead costs. You know that for each lamb, your costs for breeding, veterinary bills, feed, 
transportation, and other variable costs are $200 per year. Although you know that your final hanging weights 
will vary, you know that your average hanging weight gave you a per lamb market price of $500 per lamb. Your 
break-even volume calculation is as follows:

overhead expenses

price per unit—variable expenses per unit

$40,000

$500/lamb—$200/lamb

$40,000

$300/lamb

133.33 
lambs 

Remember that doesn’t mean you need to sell 134 lambs to have a successful business. That means you need to 
sell 134 lambs to break even at that price. If you know that you want to make at least $10,000 in profits to put back 
into the business each year, add that into your overhead costs. Try experimenting with a range of market prices to 
see how they affect your break-even production levels. If you don’t think you can produce more than 134 lambs, 
how can you reduce your expenses or increase your prices? 

Calculating a break-even price  
If your production volume is fixed—either because of production capacity or 
sales contracts—calculate a break-even price for your product; in other words, 
determine what market price is needed to cover your variable and overhead 
costs. Break-even prices are calculated by dividing your total costs for the 
product or enterprise by the total quantity you expect to produce or sell. 
Again, your total costs are the sum of your overhead and variable expenses for 
the enterprise. 

Using the lamb example again, let�s say that you can only raise 120 lambs and you want to figure out what price 
you should charge. Your overhead expenses for your farm are $40,000 per year and your variable expenses at 
$200/lamb are $24,000 with 120 lambs. Your break-even price calculation would look as follows:

overhead expenses + variable expenses

volume of production

$40,000 + $24,000

120 lambs

$64,000

120 lambs

$533.33/
lamb  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The next question would be whether or not your market would be willing to pay more than $534 for a lamb. Can 
you demonstrate that your lambs have added value? Again, this price will only get you to break-even. Like in the 
example above, if you want to make $10,000 in profits this year, you can add that into your overhead costs. If you 
don’t have a set profit goal in mind, you can play with the numbers to identify your profits. For example, if you 
sold the lambs for $550 each on average, you would make $16.67 per lamb in profits and just over $2,000 total 
with 120 lambs. 

Break-Even Analysis with Multiple Products
As you might imagine after reading through the previous sections, it’s easiest to do a break-even analysis for a 
single enterprise business, such as a CSA or the lamb business outlined in the example on break-even volumes. If 
you have a farm with multiple enterprises, like having multiple crops for sale or multiple different markets (and 
prices) for your products, break-even analyses become a bit tougher. You have two options: look at an enterprise 
individually or include the costs of the farm as a whole. If you have only a few enterprises or just one major 
enterprise that you’d like to evaluate, it might make sense to look at the enterprise(s) individually. If your farm 
products are more diverse or your pricing is more complex, it might make more sense to do a break-even analysis 
on your farm as a whole. 

You can use an enterprise budget to identify the overhead and variable costs associated with one specific product, 
but the break-even won’t include the volume/price you need in order to pay your farm’s overhead expenses 
overall (rent, taxes, etc.). For example, if you have a diversified operation but you’re wondering if you’re breaking 
even on your carrots, you could do a break-even just on the costs associated with your carrots. You’ll know, for 
example, how many carrots you have to produce in order to cover the costs of the carrots, but you won’t know 
how many carrots you have to produce to have the carrots pay their own way on the farm by helping to cover a 
portion of your farm overhead expenses overall. 

Alternately, you can include the costs of the farm as a whole in your  overhead costs in your calculations. 
However, only include a portion of the farm overhead expenses or your carrot calculation will make it look like 
carrots have to carry the load of covering all of the farm overhead expenses. You can do this by identifying all of 
the farm overhead expenses and dividing them by the number of enterprises (i.e. the number of different crops or 
different products you are producing) or you can apportion the farm overhead expenses based on the value of the 
different products. For example, if you have a diversified vegetable farm with 20 varieties of vegetables you 
produce, you can divide your total farm overhead expenses by 20 and include that number in your calculations. 
Or, if you know that you make more profit off asparagus and 
basil than onions and potatoes, you can include 10-15% of the 
total farm overhead expenses in your calculations for basil and 
asparagus and 2-3% of the total farm overhead expenses in 
your calculations for onions and potatoes.  Feel free to use 
whichever system makes sense on your farm. Just remember to 
make sure that you include all of your costs in the various 
calculations so you don’t end up under-shooting your break-
even points.

Using the Break-Even Analysis
Once you’ve calculated one or more break-even numbers for each enterprise or product compare these numbers 
against your sales projections, your production capacity, and your projected market price. Are your sales goals 
financially feasible? Can you produce the break-even volume? Will the market, based on your research, support 
your minimum break-even value (price)?

If your enterprise doesn’t break even, then you’ll need to take another look at the market or your cost structure. Is 
there a way to boost your projected market price or to cut input costs? If not—if you can’t break even on your 
costs—then your business idea for this enterprise is not financially feasible. Stop here, return to your vision and 
rethink your plan. Is there another way to reach your goals or are you willing to sacrifice income from this 
enterprise to achieve your vision? On the other hand, if calculations suggest that your enterprise will more than 
break even, you’re ready to perform a profitability assessment for the whole farm.
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Partial Budgeting 
This section may not be applicable to you now as you’re planning your new business, but partial budgeting is a 
tool you can use to evaluate changes to your business. For instance, if you want to evaluate purchasing a tractor, 
you can do accounting around that specific change rather than the farm as a whole. It’s called a “partial budget” 
analysis because you’re only evaluating the part of your budget that would change. The partial budget approach 
uses annual income and expense changes to study the impact of a new business idea or major purchase on your 
present business’ profitability and cash flow.

Effectively, when you do a partial budget analysis, you’re researching the balance between the added income 
you’ll have from an investment versus the added costs of that investment. To evaluate that, you will need to 
collect four sets of numbers, broken into the following two groups: positive effects of changing (such as starting a 
new enterprise, making an investment, etc.) and negative effects of changing.

You may notice that “operating as normal” 
are represented diagonally across from one 
another in the upper right and lower left 
boxes and the change or investment are 
represented diagonally across from one 
another in the upper left and lower right 
boxes in the table.

You don’t necessarily need all of these 
numbers—if you are evaluating a change that will not produce any income but will increase some expenses and 
decrease others, for example. Fearless Farm Finances includes an example of switching from harvesting potatoes by 
hand to purchasing a 1-row potato harvester. They don’t project any added or decreased income from that 
purchase, but the purchase would be an increased expense and the reduced labor would be a decreased expense 
so those sets of numbers are accounted for.

Below is a simple example illustrating how partial budgeting can be used to evaluate 
the financial impact on a diversified vegetable farm of putting a high tunnel on 
roughly ¼ acre of farmland. Farmer Jen is farming 5 acres total so this is about 1/20th 
of her overall production. Let’s start with the revenue side.  The farmer has evaluated 
the productivity of high tunnel crops and found that she can produce $72,000 of gross 
profits (increased revenue) from the high tunnel. Under decreased revenue, Jen needs 
to capture the revenues that will be lost by not farming the ¼ acre as it was farmed 
previously. Previously, she was gaining $30,000 in profit off of that ¼ acre so she 
captures that under decreased revenue.

On the expense side, Jen calculates the costs of her previous farming method and the 
costs of farming with the high tunnel. She knows that as she’s currently farming the ¼ 
acre, she spends $9,000 on labor, $3,948 on boxes and labels, and $2,502 on other non-
labor production expenses (capturing seeds, marketing, fuel, transportation, and other 
overhead and variable costs here for simplicity). Because of the increased production 
inside the high tunnel, Jen estimates that labor costs will increase to $18,000, and boxes 
and labels and non-labor production will increase to $12,000 and $6,000, respectively.

The cost of the high tunnel is $10,000 and she can choose to include this in one of two 
ways. Because she wants to use these numbers to estimate her profits this year and in 
future years, Jen doesn’t want to include the full $10,000 this year because then her 
calculations would make it look like she was buying a new high tunnel every year. 

1. Depreciation Method: Most sources recommend that she capture this cost by including her DIRTI costs 
(depreciation, interest, repairs, taxes, and insurance). As laid out in module 4, depreciation is calculated as 
follows: (original cost—salvage value) / useful life. Jen plans on using the high tunnel until it is no longer 
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normally*do

Increased*expenses*associated*with*

changing



valuable and she expects that will take about five years so her depreciation calculation is ($10,000—0) / 5 
years = $2,000/year. Jen has the cash on hand to buy the high tunnel outright so there are no interest fees, but 
if she were taking out a loan, that cost would be included here. Average repairs on equipment are 3-5% of the 
purchase cost, and with high winds in her area, she adds in an estimated 3% in repairs ($10,000 x 3% = $300/
year). In Montana, taxes aren’t charged on equipment so she can omit that for now. She called her insurance 
company and with her current policy, her insurance costs won’t go up with this purchase so she doesn’t need 
to include an insurance cost either.  These costs are represented in the “profit” column of the worksheet.

2. Cash Flow Method: She could alternately choose to look at how it will affect her cash flow (enter all values in 
the “cash flow” columns). If Jen chose to include the costs that way, she would remove depreciation and 
interest and add in the $10,000 in full. Again, this will only let the partial budget analysis apply for this year 
and to evaluate profits in future years, she would need to remove that $10,000 cost. This approach can be 
more useful if you are taking out a loan. For example, if she knew that she would be paying back $2,120 each 
year, Jen could include that as an annual cost of debt repayment for the full five years. She would include that 
cost instead of the depreciation and interest costs in the example above, but it’s important to still include the 
costs of repairs, taxes, and insurance. 

While it may seem like “cash flow” is the simpler and more straightforward way of evaluating your plan, a cash 
flow plan only considers cash transactions without representing inventory changes, and it can grossly 
misrepresent the actual farm financial situation. For example, if you are working with a wholesaler and you pre-
sell two years of livestock production, the cash flow will look great because of all the money you’re taking in that 
year, but it won’t show that you have to hold the costs associated with that income over for another year. Another 
example is that if you only use a cash flow, the startup phase when you’re building up your inventory and have a 
lot of costs, but have no or few cash sales will look particularly bad.

Because Farmer Jen did not take out a loan, we have used the depreciation method in this example. Therefore, her 
total positive effects of changing are $87,500 and her negative effects of changing are $65,900, meaning that the 
total impact of the change (positive effects minus negative effects) would be $21,600.  She may decide that those 

Example Partial Budgeting Worksheet for a New High Tunnel

Posi:ve)Effects)of)Changing Nega:ve)Effects)of)Changing

Increased)Revenue Profit Cash)Flow Decreased)Revenue Profit Cash)Flow

High*Tunnel*Crops $72,000 1/4*Acre*Crops $30,000

Subtotal)))))))))))))))))))))))))))(a))= $72,000 Subtotal)))))))))))))))))))))))))))(b))= $30,000

Decreased)Expenses Increased)Expenses

Labor $9,000 Labor $18,000

Boxes*and*Labels $3,948 Boxes*and*Labels $10,565

NonbLabor*Produc%on*Costs $2,552 NonbLabor*Produc%on*Costs $5,035

Deprecia%on $2,000

Repairs $300

Subtotal)))))))))))))))))))))))))))(c))= $15,500 Subtotal)))))))))))))))))))))))))))(d))= $35,900

Total)(+))Income:)(a)+)c))=)(e) $87,500 Total)(F))Loss:)))))))(b)+)d))=)(f) $65,900

Net)Income)))))))))))(e—f))=)(g) $21,600

Cost)of)the)investment))))(h)) $10,000

Return)on)Investment)(g)/(h) 2.16
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profits sound great and it fits in with her values and her goals. If she feels confident in her numbers, Jen can stop 
here and move forward with making the change. If however, the numbers are a little tighter (say the total impact 
was $2,160 instead, for example) or if she wants to compare multiple different investments, she can also do a 
Return on Investments calculation to further evaluate the profitability of her idea.

Return on Investment/Assets 
Profitability is the difference between the value of goods produced and the cost of their production. The most 
common way to measure profitability is the return on investment (ROI), also sometimes called the return on 
assets (ROA). ROI is calculated by dividing the net profits you expect from an investment by the total cost of the 
investment. You can see an example ROI in the final line of the table above on partial budgeting. The net income 
Farmer Jen would earn was $21,600 and the cost of the investment was $10,000 so the ROI was 2.16.

On a basic level, if an investment has a positive ROI, it means that you are effectively converting your assets into 
solid profits. If an investment has a negative ROI, it means that the costs are greater than the benefits. That part is 
fairly obvious because to get a negative ROI, you would need to be including a net loss from the investment in the 
top half of the equation!

So how do you know whether you have a low or high ROI?  You can compare the ROI for your farm against the 
ROI for an investment. To compare with the ROI for your farm, you would calculate the net income of the farm 
(gross revenues—all expenses) and divide it by the total assets. This number should include current and long-
term assets. For example, Farmer Jen knows that her farm’s net income is $45,000/year. She has $18,000 in her 
checking account, a tractor worth $8,000, and land valued at $220,000. Her whole farm ROI would be as follows:

Net Income

Total Assets

$45,000

$18,000 + $8,000 + $220,000

$45,000

$246,000
ROI = 0.183 or 18.3% 

Now refer back to the ROI calculated for Jen’s investment in the table above on partial budgeting: 2.16. Because 
the ROI for the investment is higher than the ROI for her farm, Jen feels more confident that it’s a good 
investment. If Farmer Jen were considering multiple investments, she could run an ROI calculation on each of 
them. If there are other opportunities with a higher ROI, then those investments should be chosen (as long as they 
are also a better fit with her values and goals).

You can also compare the ROI with the interest rate on the investment. The ROI should be higher than your 
interest rate.

Avoiding a Potential Wreck 
Chris Blanchard of Purple Pitchfork, a consulting firm that works with farmers and ranchers across the country, 
shares other warning signs that you should watch for when doing your financial planning.

• Your checkbook doesn’t stretch through the end of the month.
• Carrying open accounts past 60 days. It can sometimes make sense to pay an invoice in the following month, 

particularly if you only write checks on a monthly basis, but going past 60 days can be a sign of a problem.
• Avoiding or putting off buying the things you need for your farm.
• Selling inventories. Obviously we are all selling our inventory during our market season, but if you regularly 

find yourself, for example, selling calves before they’re due because you need the money, that’s a sign of a 
problem.

• Accepting lower than market prices. Sometimes you have extra inventory that you don’t need to sell that 
you’re willing to sell for a lower price, but other times you may be selling at rock bottom prices just to get it 
out the door which may be problematic. Also, keep in mind that even when you have “extra” inventory, 
you’re still paying the same expenses—seeds, labor, etc.—on that inventory so it isn’t really extra!
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If you see any of these issues emerging, talk to your lender immediately. They want you to pay down your debts 
and they may be able to change the amortization (interest schedule) or restructure your debt to reduce your 
expenses. You can also consider getting a line of credit (similar to a loan that is available to you as you need it, 
rather than as a lump sum) although lines of credit can be expensive and a dangerous trap to get into so try to 
stay away from using lines of credit or credit cards if you aren’t sure you can pay them off quickly. In addition, 
you can consider selling off unproductive assets and inventory, like implements you’ve found that you don’t use 
often.

These signs are also a good reason to re-evaluate your farming operation. As we mentioned, your farm budget 
that you develop is your best, most well-educated guess at your costs and profits, but sometimes they’re wrong. 
There’s a reason that 43% of farms don’t make it more than 5 years. Take this opportunity to revisit your financial 
plans and see where you may have over-estimated income or under-estimated costs. Will increasing production 
help? Do you need to find a new market? Where can you cut costs? Perhaps doing a few enterprise budgets 
would help you to identify specific products that aren’t working for you. Sometimes you have to spend money to 
make money. Are you doing enough marketing? Are there capital improvements you could make that would 
improve your workflow and save money? Asking these questions sooner than later will help you to survive hard 
times and thrive.
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Worksheet 5A: Evaluating the Financial Health of 
Your Farm or Ranch
Calculate the first two ratios using numbers from your farm or from the examples provided in Module 4. The last 
two ratios are provided for your information and future use.

Measuring Liquidity with Current Ratio: 
Current Assets (Balance Sheet)

Current Liabilities (Balance Sheet) ÷

Current Ratio =

Measuring Solvency with Debt-to-Asset Ratio: 
Total Liabilities (Balance Sheet)

Total Assets (Balance Sheet) ÷

Debt-to-Asset Ratio =

Measuring Repayment Capacity with Term-Debt Coverage Ratio: 
Gross Farm Income (Income Statement)

Cash Operating Expenses (Income Statement) -

Scheduled Interest Payments on Long-term Debt (Income Statement) +

Family Living Expenses and Taxes    -

Funds Available for Debt Payments =

Intermediate and Long-term Debt Payments ÷

Term-Debt Coverage Ratio    

Measuring Efficiency with Operating Expense Ratio: 
Cash Operating Expenses (Income Statement)

Interest Expense (Income Statement) -

Gross Farm Income (Income Statement) ÷

Operating Expense Ratio =
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Worksheet 5B: Break-Even Analysis 
Calculate your break-even value or volume for each enterprise or product. Try experimenting with a range of 
market prices to see how they affect your break-even volume. Then, compare your break-even volume to your 
sales volume projections and output capacity estimates.  Likewise, when calculating break-even values, consider: 
can you break even and still remain competitive? Is your break-even value below the projected market price that 
you identified in Module 4?

Break-even Volume Enterprise or Product: 
Annual overhead costs (a) = 

Price per unit (b) = 

Variable expenses per unit (c) = 

Break-even volume (a) / (b—c) = 

Estimated sales volume      =    

Upper limit or output capacity      =  

How does our break-even volume for this product compare to our projected sales volume 
and production capacity estimates?  Can you break even? 

Break-even Price Enterprise or Product: 
Average overhead expenses (a) = 

Variable expenses (b) = 

Overhead expenses (c) = 

Break-even price (a + b) / (c) = 

Estimated market price       = 

Upper limit or market capacity       = 

How does our break-even price for this product compare to our projected sales volume 
and market capacity estimates?  Can you break even? 
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Worksheet 5C: Return on Investment/Assets 
Remember that ROI and ROA are both ways to measure profitability.

Investment: 
Net positive or negative impact of the investment (a) = 

Cost of the investment (b) = 

Return on Investment       (a) / (b) = 

Assets: 
Net profits for the farm (a) = 

Total farm assets (b) = 

Return on Assets       (a) / (b) = 
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